SCIENCE SET-27

161. A sound wave travels at a speed of 340 m/s. If its wavelength is 2 cm, what is the frequency of the wave? /U

afel AT 340 HIeXAdHs Y a1f § <Torehl & | TTE SR oL 2 QAT §, o oaT b g o) 82
(a) 17 Hz
(b) 170 Hz
(c) 17000 Hz
(d) 1700Hz
e Given, Wavelength (A) =2 cm = 0.02 m
Velocity (V) =340 m/s
From, V=fx A
340=0.02 x f
f=34000/2 = 17000 Hertz

162. Which of the following diseases is caused by a virus? / fFF=Ifalf@a & & et AT 9T TR S HROT BIcT &7
(a) Typhoid /CTS®HISS
(b) Tuberculosis / T&AT

(¢) Cholera / &<
(d) Chicken Pox / BT ATAT

Diseases caused by:

e  Virus —Chicken pox, Small pox, AIDS, Polio, Rabies, Herpes
Bacteria—Tuberculosis, Whooping cough, Diphtheria, Typhoid, Pneumonia

e Fungi —Athletes’ foot, Baldness

163. Which of the following pollutants in water causes 'Minamata' disease?/STel # [Tl @d 7 & it AT ECAER
THFAATET QT hT HROT T 872

(a) Salmonella /ATeHIAET

(b) Methyl Mercury/fRaTger #RA4

(c) Lead /ell8

(d) Perchlorate/TRFIRT

e Minamata disease (Chisso-Minamata disease), is a neurological syndrome caused by severe mercury
poisoning.

o TR 9T (RIAY-BeTaTer A9T), 73R URT FANTeRel & HROT 1 aTell Ueh wgR el Torehel TRgiH &

164. Which of the following is an example of scattering of light? /fFAfalf@d A & hleT JRTRA & FehToTaT T
3ETEROT &7

(a) Blue colour of the sky /31T 3T siTell LT

(b) Twinkling of stars /R T feATCHTT

(c) Splitting of white light through a glass prism /&Td & TS & The, Tehrer T fa@ssT

(d) Rainbow/SG eI

e Some examples of scattering to light are:



The Sun looks red at sunset and sunrise,

sky looks dark to astronomers,

blue colour of the sky.

red light waves are scattered the least and blue light waves are scattered the most by atmospheric
gas molecules.

o ST & TehIUTST & H 3ATE0T &
o I 3R e & TF §F ot R g,
o  TIMIMTEIAT bl TR 3UHRAYT G@AT g,
o THHATST T siTell 3T,
o  ATgHSCNY I UL SaRT FTeT Fehrel 3T H &haf 3R el Fehrer el Hed 3iTeeh
gt gl €1

O O O O

165. Which of the following is called the female reproductive part of a flower?/feToliad H & fha el T HATGT
SSTeleT HI3T gl STl &7

(a) Monoaceum /FTATTTRAZ

(b) Zeissium/SN AT

(¢) Zyngong/fSreTatier

(d) Stamens/GehER

o In a flower, the female reproductive part is known as the pistil. It is made up of three parts that include an
ovary, style, and stigma.

Stigma
/ / Carpel
Stamen Anther
Style
Filament b . Ovary

166. Echocardiogram is more closely related to?

SHIFITSTIATH Frad 31T foihedr & Hafid &2
(a) Doppler effect /BTeR TTT
(b) Zeeman effect /SHT THTT

(¢) Photoelectric effect /MBSl lFee THTT
(d) Magnetic effect /ﬂ'a'aﬁ?l CEIC)



167. The endocrine glands are also called

The echocardiogram is more closely related to the Doppler effect.
It is a kind of ultrasound test in which invisible sound waves are examined through a transducer.

SHIPITSANIH SR TeTd A 31F RAhear F FaRT B
I Teh TehR T ITecTH138 GUETOT & ToTad Crasg@T & ATEH § 3(¢2d afel aial & Sfie &l el &
2/37a:|TdY T A —— Y ;T SATAT B ?

(a) Pituitary gland /ﬁ@@ﬂ DB

(b) Ductless gland /sTfererr IR Ifr
(c) Thyroid gland JUATRRSS T

(d) Liver gland/Iehcd DD

The endocrine glands do not have ducts, so they are called ductless glands.

Endocrine glands and hormone-secreting cells located in different parts of the human body, form the
endocrine system.

The pituitary gland, pineal gland, thyroid, adrenal, pancreatic, parathyroid, thymus and reproductive glands
are the well-organized endocrine organs of our body.

3id-ardr AfAAT 7 AferhrT 7T gt 8, SATIT Seg ATelenT[dgleT ATAAT gl STl & |

AT R & AP 9 & g 373 3rd Jf37 3K grAfA-arfaa AIRIT 37/a:3rdr o 1 f@#oT
gl

egedl 7if3, Niage 7112, aRRigs, g, A, WIARRTSS, ASAH R Toill ARAT gAR
IR & GeAa ey - ardl 3§

168. Oncology is associated with the treatment of which disease? /3iTehrelisl fohe SN & 3UaR & Tafa &2
(a) Osteoporosis /3T EeaaRIAT

(b) Diabetes /H?:];ﬁlg

(c) Cancer /AR

(d) Renal failure /?’;Ié' 1 fawerar

Oncology is associated with the treatment of cancer.

Osteoporosis is a condition that affects the bones.

Osteoporosis increases the size of spaces between bones, causing the bone to lose strength and

density.

Diabetes is a disease that occurs when blood sugar level increases. Renal failure is a condition in which the
kidneys stop working and are not able to remove waste and extra water from the blood or keep body's
chemicals in balance.

el HOT & 3TIR J Ffd gl

AR v U Rufa § St gsfeat & wenfaa & g

HTReAIRIRAT §3f3at & S Rerd TUTT &1 3ThR T T &, TSI §33) T dTehd e &1 ST &
SRATSEST Teh T START & ST sofS IR Sael eo1 T Bl ¢ | 916 T [athorar T vd [&ufa § foras
I HTH AT G Y &l © 3R o & 3rafRrse 3R 3rfafRerd arelt ot foeprersr am eI & AT bt
HJolel 3 T 3 HATHA G181t |

169. Which of the following can produce a virtual image larger than the object? /fAF=Ifolf&d H & HiA a¥qd qaaar
HTHTE BT 3ceeT Y Hehell 87



(a) Concave mirror /3Tddel gqor
(b) Concave lens /37adel ol &
(c) Convex mirror /3<Tel guuT

(d) Plane mirror /HHJT guur

e The image formed by the concave mirror can be smaller/larger than the object and can be real or virtual.
e  When an object is placed between focus point and pole of the concave mirror it produces a virtual image
larger than the object.
Concave mirrors are used as search lights, shaving mirrors, satellite dishes and many more.
These mirrors have the property of converging light rays.

o 3ace GUUT GaRT JaTTs IS DI aF] U DI/ g Fehell & IR arecIfaes ar 3mermedt gt Fheht B

o SIS TR aE Y I GUUT & Wiehd g 3R ¢fa & Sfier T@T STTell & ot I 9 A F31 3T o
AT B

o 37ddcT SUUT I IUTRT T TS, AT TR, Aeese 327 3R F3 317 el & T & fhar rar g

o SoTayult 3 yerer vl Bt HHERT F T IOT AT

170. Muriatic acid is scientifically known as:

FIRUfesh TS 1 deTleleh & § ST STl &
(a) Perchloric Acid /9FaifRer TS

(b) Hydrochloric Acid /gTS3IeFellXeh TS

(c) Sulphuric AcidFeFIR® TS

(d) Picric Acid/ffsher TRAS

e  Muriatic acid is a colourless, ultra-pungent solution consisting of hydrogen chloride in water.

o FgRUfeE vfls v W, 3ifd-rar et & fowe areh & grsgiete #eliss gl g

171. In a mixture, the ratio of salts and acids is 5: 7.1f the weight of the mixture is 360gm, what will be the weight of
the acid present in it?

Teh TAAOT F oIq0T 3 31 T 3eTUTT 5:7 § | AfE TRAOT T aateT 360 AMA §, A 3HH HiS[G URAS T dofed 7T
gRm?

(a) 260 gm
(b) 130 gm
(c) 150 gm
(d) 210 gm
Salt: Acid=5:7
and weight of mixture = 360 gm
As per above information

. . — 7
Weight of acid present in mixture = 36()Xl_7 =210gm

<

172. Which of the following elements has electronic configuration 2, 8, 3?
RAEITafEd 7 & 9 dcd FT Sogcli=ish [A=a1d 2, 8, 3 &7
(a) Magnesium/ﬁ??ﬁ‘f?\ﬁ’:lﬂ



(b) Aluminium /TegfATFIH
(c) Argon /3TaTeT
(d) Sodium /A f3T#

e Aluminium is a metal element whose atomic number is 13. The electronic configuration of aluminium is as
follows -

o TogHEH T UTq dcd & AT A AT 13 §| TogaNorast 1 goreriiern [&eamd 38 TR & -
13A1=1s2, 252, 2p6, 352, 3pl or 2, 8, 3.

173.Which of the following is an exothermic process?/faFilaf@d # & hisT T Teh FSATETIT gfehar 82
(a) Sublimation of Camphor/ehYqY &1 3EAUTT

(b) Reaction of water with quick lime@? ?-I{\?T S ATY 9T hr gfafshar

(c¢) Evaporation of water/dTe1l &l aTSUTeRI0T

(d) All of the options/T#T faheT

e An Exothermic reaction is a chemical reaction that involves the release of energy in the form of heat or
light when quick lime reacts with water a large amount of heat is released along with the formation of
calcium hydroxide, It is a highly exothermic reaction. Whereas, Evaporation of water and Sublimation of
camphor are endothermic reactions.

o U TN wiafenar ves trarafass wfafsar & foras ot ar yehrer & €9 7 Faft i Rers enfaer

BICH & STl ST G317 AT ATl & A FTATSHT AT & A HieRIa# grsgierdnss & foraTor & arey gt arr
7 AT fAepercd &, I8 ve 3rcafe v fafAes ufafssar €1 Srafes, arel s arsdientor 3k gy @
FEIUTA USrIfae yfafshard g1

174.......... made the first observation on platinum as a catalyst -

......... 3O & T H CAfETH W ug el raeliehet faha -

(a) Mendeleev /Hseld

(b) Mosely /HIFeT

(c) Dobereiner /3IeRTSe X

(d) Newland/#gels

e The German scientist Johann Doberiner first observed platinum as a catalyst in 1823 AD.

o SHA IS SNETT SSRR  Ugell IR 1823 . H Tolfead I 39 & &9 H @]

175.The study of diseases in plants and the way inwhich plants resist or cope with infection iscalled:

gttt 77 et T 3reet 3R A ford TR FoRAUT & ITeRIY aXd ¢ I1 389 fA9ed &, 39 gl ST ¢
(a) Pathology/Seltsir

(b) Physiology/frforareirsir

(c) Phytopathology/ﬂ%ﬁa' SIcic)

(d) Photomorphogenesis/qﬁmmm

e Phytopathology or plant pathology is thescience of diagnosing and managing plant diseases.

o TISEIATETS AT Telie eiiatal gielt &t SRt & et 3R yeersT #r A g1



176. A solution of a weak acid and its conjugate base salt is called : /forgY g‘éﬁ 3T 3R mﬂ'ﬂm & eIqoT
& faead A FgT AT

(a) Basic solution /&R faerdeT

(b) Neutral solution /J¢€ TaerdeT

(c) Buffer solution /%Y TaeTdeT
(d) Highly acidic solution /37ca e 31Feild fderdst

e A mixture of a weak acid and its conjugate base salt (or a mixture of a weak base and its conjugate acid) is
called a "buffer solution".

e A solution of Acetic Acid (CH3COOH) and sodium acetate (CH3COONa) is an example of weak acid and
its base salt.

o ToRel geer 31l 3R 3T TYIAT STRIT S7a0T (7 Fohdll gifel 8TR 3R 38 Tgaelt 33T & fAwon) &
0T & "SR eI ST ST B
o URARR® v (CH3COOH) 3R W3TH THiee (CH3COONa) T 8T HasiR TS 3R 3TH 87 5%

T U 30T &

177. The triplet viral vaccine, provides immunity against which of the following diseases to the infant?/ fgTelc
Aol Ereh, TR1e] T el 7 & fohet ARY & Tl FaRET Feret il 87

(a) Whooping cough, tetanus, measles / STell @IET, CAd, TET

(b) Whooping cough, tetanus, diphtheria / Tell @RI, ¢eaTd, F3eefiRar

(c) Tetanus, diphtheria and smallpox / ¢etd, BT 3R Jas

(d) Tetanus, typhoid, hepatitis / &I, TIEHISS, gUcrsied

178. Who developed the UV spectrophotometer to measure ozone in the atmosphere? F:I'I'«’:'I’?ilgﬁ H 371S11eT Sl ATY
¥ v Ty SR PIRIHeT 35 ek Ry e

(a) Professor GMB Dobson /SIthER SiTTasT Siedl

(b) James Lovelock /ot&a Adelih

(c) Dr. Joe Farman /31, Y BT

(d) Dr. F. Sherwood Roland/3T. T, QﬁT_Jl;s’ S

e Professor G. M.B. Dabson developed a UV spectrophotometer to measure ozone. Ozone layer prevents
ultraviolet rays from coming on the Earth.

o  Skin cancer is caused by ultraviolet rays. The thickness of the ozone layer is measured in the Dobson unit.
The ozone layer is the most damaged by CFC gas.

o SIREY SI.UAEY. STHT oF 3MafleT hl AT & FoIT Teh FA TIFIPICIAICY fasfad | e e
TRTeTetY forRott Y gedt ox 31er & Qe

o TIAT HER RIS 0T & FHROT BT ¥ ST R I AlCTS Stedst $hTs # AT AT & Hrowar
3 & ST Tl BT Fery 31TEIeh TR AT gl & |

179. The correct sequence of metallic character of the given elements: /f/GU 31T dcal & elfcad ot T el e
(a) Na<K<Li<Rb<Cs



(b) Li>Na>K>Cs>Rb
(c) Li>Na>K>Rb>Cs
(d) Li<xNa<K<Rb<Cs

Elements with matallic character occur in certain groups or columns of elements, including the alkali
metals, alkaline earth metals, transition metals (including the lanthanide and actinides).

enTfedeh TUT ATeY e et 35 S TR 2 e 4T S ¥, T 47 e, aMver g e, T
1 (FI=A133 3R Tldesss afgd) anfde g1

The correct sequence of matallic character of the given elements are -

few 1w cFeat & enfeaes o 1w FAE -

Li<Na<K<Rb<Cs

Periodic characteristics (from left to right) —
o Electrical positivity and metallic properties decreases.
o The chemical reactivity of the element decreases, increasing later.
o The value of electronegativity increases gradually.
o The value of ionization potential increases.

Features of the group (moving from top to bottom) —
o There is an increase in electrical positivity and metallic properties.
o Chemical reactivity of metals increases, decreases in non-metals.
o The value of electronegativity decreases gradually.
o The ionization potential value decreases.

3Tafere TAAWArT (ST & gIv) -
o faegd FhRIcHSRAT Td arfcaeh 0T % &1 S &
o dcd sl TARTAS G fshareiierar g Sdl §, 916 H S g
o faegd HoTcHEHAT 1 AT - T B |
o 3T [a87a T AT 9 ST & |
THg 1 FIATATT (FX A A1) 1 HR] Fea) -
o (1)fdeTd HPRIcHRT Ud Hlicaeh [0 7 Jef&r gle g |
o (2) a3t F TarafaE HfRfFETar agd €, 3rergt #F geed €
o (3) facTd HUTcHSAT T AT R-LR A el ST B |
o (4) 3T faeTd AT U SATAT & |

180. We see the color of grass as green because- /gH ETH T I3T &1 fe@rs ¢ar & F3if-

(a) It reflects green colored light back to our eyes /g E')C 37 T ALY T araq E?Tl'a' 3@ & gIrafdd adr %’
(b) It absorbs green light /I &Y TSI T IFLNTT AT &

(c) It reflects all light except green. /JIg g I3T I BISHT FHT Jahrer st gfafafard sHIdr gl

(d) It reflects white light on our eyes./Jg EHIRT TG U The IAAT ol FTTaTord IAT & |

The color of the grass appears green to us, because it reflects green light back to our eyes.

°TE T 37 g g4 oS dar €, i I g Qerel &t araw gAYy st 3 wrafda e e B



